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QUESTION 1

How many SAPs can be configured on a port configured with dotlq encapsulation?
Al

B. 4095

C. None. This encapsulation is not supported.

D. The number is limited only by the capacity of the router

Correct Answer: B

QUESTION 2

If an LSP\\'s loose primary path includes the statement "include green" and "exclude red;" how does CSPF choose the
LSP\\'s path?

A. CSPF chooses a link that is a member of both administrative groups

B. CSPF chooses only those links that are NOT members of the green admin group
C. CSPF prunes the green links and uses these links for the secondary path

D. CSPF signals the LSP path over the green links only, and prunes all other links

Correct Answer: D

QUESTION 3

RSVP session state for LSP 1 has timed out on router R3. Which of the following actions will router R3 initiate to clear
the RSVP session?
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Legend
—— LSP1toR6

A. Send a PATH Tear message toward router R6.
B. Send a PATH Tear message toward router R1.
C. Send a PATH Error message toward router R6.
D. Send a PATH Error message toward router R1.

Correct Answer: D

QUESTION 4

Given the diagram below, what path will traffic follow from router R6 to router R3, and from router R3 to router R6, if IS-
IS is the routing protocol? The numbers beside the links are the metrics for that link.
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Area 49.0002

L1/L2

Area 49.0001 Area 49.0003

A. Router R6 to router R3 will follow (R6-R5-R2-R3). Router R3 to router R6 will follow (R3-R2-R5-R6).

B. Router R6 to router R3 will follow (R6-R5-R2-R3). Router R3 to router R6 will follow (R3-R4-R2-R5R6).

C. Router R6 to router R3 will follow (R6-R5-R2-R3). Router R3 to router R6 will follow (R3-R4-R7-R5R6).

D. Router R6 to router R3 will follow (R6-R5-R7-R4-R3). Router R3 to router R6 will follow (R3-R4-R7-R5R6).

Correct Answer: C

QUESTION 5

What happens when a packet without a VLAN tag is received on a SAP provisioned with null encapsulation while an
SDP vc-type is provisioned as vlan?

A. The frame is dropped.

B. The service ID is added as the VLAN tag.

C. AVLAN tag of 0 is added as the provider VLAN tag
D. The frame is forwarded with no VLAN tag

Correct Answer: C
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